
 
 

 
   

 
 

  
 

 
 

   
 

  
 

  
 

  
 

  
 

 
 

 

 

5.73 
Quiz 2 

1. A. Sketch V(x) for an infinite one-dimensional box, 

0 

V(x) 
 5E1 

10E1 

E1 

–L/2 0 L/2 x 
V(x) =  |x| > L/2 
V(x) =  |x| < L/2 

Draw in the energies of the n = 2 and n = 3 levels and specify the number of internal 
nodes in ψ3. 

B. Sketch the wavefunction for the state that has one internal node. 

C. What is ψn(0) for all odd n? 

D. What is ψn(0) for all even n? 

E. The momentum, p, for the particle inside the box 

pn = ±[2mEn]1/2. 

Sketch the probability distribution P(p) for the momentum of a particle in an infinite one-
dimensional box. 

0 p 0 P(p) 

0.5 

• 

1



 
 

  
 

 

  

MIT OpenCourseWare 
https://ocw.mit.edu/ 

5.73 Quantum Mechanics I 
Fall 2018 

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms. 

2

https://ocw.mit.edu/
https://ocw.mit.edu/terms



